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QUESTION 1

A developer is implementing onFault logic into a Business Process (BP) for error handling. Given the following BPML
code containing two onFaults: 

How will the onFault execute for the error "XML failed validation"? 

A. Execute both faults. 

B. Execute neither fault. 

C. Execute the first fault. 

D. Execute the second fault. 

Correct Answer: D 

 

QUESTION 2

A customer has deployed a two node active-active IBM Sterling B2B Integrator (SBI) cluster in the secure zone on two
servers. The customer has installed two servers in the DMZ for the purpose of installing remote SBI Perimeter Servers
to facilitate communications with external partners. External partners will connect to an external IP Load Balancer that
will distribute inbound FTP/S, SFTP and HTTP Client sessions across the Perimeter Servers. The customer requirement
is that if any single server fails, all the other SBI nodes and remote Perimeter Server instances must continue to
activelyThe customer? requirement is that if any single server fails, all the other SBI nodes and remote Perimeter Server
instances must continue to actively handle inbound sessions for each protocol. What is the minimum number of remote
Perimeter Server instances that must be deployed in the DMZ? 

A. 2 

B. 3 

C. 4 

D. 12 

Correct Answer: C 

 

QUESTION 3

A developer has been tasked with configuring IBM Sterling B2B Integrator (SBI) to accept SFTP sessions from a partner
SFTP client for the purposeA developer has been tasked with configuring IBM Sterling B2B Integrator (SBI) to accept
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SFTP sessions from a partner? SFTP client for the purpose of allowing the partner to pull invoice documents from their
Mailbox. The SFTP session initiated by the partner will be authenticated by a key signature to the SBI SFTP server.
Which two keys are required to be configured in SBI for the establishment of the SFTP session? (Choose two.) 

A. Known Host Key 

B. Host Identity Key 

C. User Identity Key 

D. Remote Host Key 

E. Authorized User Key 

Correct Answer: BE 

 

QUESTION 4

A developer has been tasked with configuring IBM Sterling B2B Integrator (SBI) to initiate FTP sessions using SSL to a
partner FTP/S server for theA developer has been tasked with configuring IBM Sterling B2B Integrator (SBI) to initiate
FTP sessions using SSL to a partner? FTP/S server for the purpose getting order files from the partner. The
requirement is that both Client and Server Authentication be performed. Which two certificate stores must be configured
for selection when configuring this FTP over SSL client communications? (Choose two.) 

A. CA Certificate 

B. Trusted Certificate 

C. System Certificate 

D. Self-Signed Certificate 

E. Host Identity Certificate 

Correct Answer: AC 

 

QUESTION 5

A company increased the number of CPUs allocated to IBM Sterling B2B Integrator (SBI). What should be done to take
advantage of this increased processing capacity? 

A. Increase the Cache Size. 

B. Increase the Global Threads. 

C. Increase the Initial Heap Size. 

D. Add additional Perimeter Servers. 

Correct Answer: B 
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QUESTION 6

Where in the dashboard interface can multiple adapter service configurations be enabled or disabled on one screen? 

A. Current Activity 

B. Adapter Utilities 

C. System Troubleshooter 

D. Business Process Manager 

Correct Answer: C 

 

QUESTION 7

A developer has set up a File System Adapter to monitor a specific folder on the file system. When a file arrives in the
folder, a Business Process (BP) will be executed. Where will the file payload be available to the rest of the BP? 

A. Primary Data 

B. Process Data 

C. Primary Document 

D. Process Document 

Correct Answer: C 

 

QUESTION 8

An administrator is getting error notifications from the Schedule_IndexBusinessProcessService stating that a previous
instance of the Schedule_IndexBusinessProcessService is still running. Which menu screen in the system displays the
conflict identified in the notification? 

A. Operations > Lock Manager 

B. Operations > System > Troubleshooter 

C. Deployment > Services > Configuration 

D. Deployment > Resource Managers > Resource Tags 

Correct Answer: A 

 

QUESTION 9

An inbound EDI process receives X12 and EDIFACT files where the functional group can contain multiple X12
transaction sets or EDIFACT messages. However, it is a requirement of the backend interface that will receive the
translated data 
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that only one transaction or message per file is delivered to the interface. 

Where is this configured? 

A. Transaction level Document Envelope 

B. Interchange level Document Envelope 

C. Parameter in customer_overrides.properties file 

D. Parameter passed to the X12Deenvelope or the EDIFACTDeenvelope service 

Correct Answer: A 

 

QUESTION 10

A developer has created a new Business Process (BP) and needs to physically check the BP into the system with the
document storage type specifically set. What are three supported modes of document storage? 

A. User 

B. Queue 

C. Shared 

D. Inherited 

E. Database 

F. File System 

Correct Answer: DEF 

 

QUESTION 11

A developer is creating an IBM Sterling B2B Integrator (SBI) Business Process (BP) using the Graphical Process
Modeler (GPM). A Mailbox Delete service is being used to delete a specific message from a mailbox. The developer is
assigning the parameter MessageId to delete in the name- value pair in the Service Editor. There are other services
being used in the BP that create the XML tag MessageId in Process Data. Which message mode in the GPM Service
Editor will be required to ensure that the value of MessageId set in the Service Editor will be used? 

A. Message from ServiceInput Msg tab: Allow Message Write 

B. Message from ServiceInput Msg tab: Allow Process Data Write 

C. Message to ServiceOutput Msg tab: Obtain Message First, then Process Data 

D. Message to ServiceOutput Msg tab: Obtain Process Data First, then Messages 

Correct Answer: D 
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QUESTION 12

What would cause the IBM Sterling B2B Integrator (SBI) database size to continually grow and thus impact
performance? 

A. persistence level set to FULL 

B. improperly sized database connection pools 

C. index, archive, and purge services not running 

D. incorrect number of database threads assigned 

Correct Answer: C 

 

QUESTION 13

Assuming a system with configuration for tracking purchase orders as "PON", an operator needs to search for an
inbound ASC X12 purchase order from a specific trading partner. Which correlation name should be selected along with
the Sender ID from the Document Advanced Search? 

A. Name: PONValue: "actual purchase order number" 

B. Name: PurchaseOrderNumberValue: "actual purchase order number" 

C. Name: Purchase Order NumberValue: "actual purchase order number" 

D. Name: Purchase_Order_NumberValue: "actual purchase order number" 

Correct Answer: A 

 

QUESTION 14

IBM Sterling B2B Integrator (SBI) is installed with a LDAP connection to allow users to log in using their
username/password stored in the LDAP server. A user is created in SBI as a local user and the InternalUser password
policy is specified. The InternalUser policy states that the password has to be changed every 30 days. After 29 days the
SBI security administrator deletes the InternalUser policy from the system. When the user logs in two days later, will the
user be prompted to change the password? 

A. Yes, because of the configuration of the original password policy. 

B. No, because the policy is deleted so the user has no password policy. 

C. The user will not be logged in because there is no valid policy specified. 

D. No, the policy is irrelevant since the password is managed by the LDAP server. 

Correct Answer: B 

 

QUESTION 15
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A new IBM Sterling B2B Integrator (SBI) system is being designed for a client. The client will use a mix of document
storage types. To ensure the system stores all data in encrypted format, which security parameter must be set for this
deployment? 

A. security.CERT_NAME=doccrypto 

B. security.ENC_DECR_DOCS=NONE 

C. security.ENC_DECR_DOCS=ENC_FS 

D. security.ENC_DECR_DOCS=ENC_DB 

E. security.ENC_DECR_DOCS=ENC_ALL 

Correct Answer: E 
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